1.2 Arithmetic Series

An Arithmetic Series is the Sum of the terms in an Arithmetic Sequence.
. n . n
S, = 5(.’, +1,) S, = 5[2!] + (}?—l)d]
t;= first term t,= first term
n = the number of terms d = common difference
t,= the n' term (sum up to) n = the number of terms
Sp=sum of the first n terms S,= sum of the first n terms

Example 1: What is the sum of the first 7 terms of the following arithmetic series: 5+ 8+ 11 + 14 +...2

Y5 Sn = -;_'-({n/{:u) or S"’{‘-[zh +(n-nd)

. Sae L[a(s) + (1-1)n)]
we don't knew r 2(s) + (=13
ne7 this derm. s
mmﬂwihc = 3.5[10 + 18]
er
formula . 3.5(29)
; ; ; . 430 1 31 : : ; :
Example 2: An arithmetic series has: S, :T, d :E s g :?. Determine the first 3 terms of this series.
{O » &3 » *3
Sn = 'zl('h + ‘Eh)
t, 2 & + d
St0 = %(‘l:n + ‘l:u) 2 '
s 4+ —;-
430 .
Benfuey) e gl o B
= 10t + 30
42 - by st d
=310 - 310
L =13 .1
3 3 3 "2 3
420 - 104, w
3
40 = 104, @
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Example 3: Determine the SUM of this arithmetic series: 5% 1T w53

‘l:u S5 need °n” first p, )
d : 3 * * ‘ d .l. ‘Lh
net +(N-1
- .n
tn = S3 s8¢ ("{%&, Sn 2({:.4-":0\)
5325+3n-3 Sn * Q(s+5s)
83 = 2+3n
L O : 8.5(s8)
5l « 3n
23
17=n
Example 4: Find the sum: —3x+x+5x+...+65x
be e Ll Sne (4« tn)
d= 4 th = i+ (N-1)d
Sis = 18 (-
ta = 65k 65 = 3% + (1) (dx) 7 (-3¢ +o5v)
6Sx = -3x + 4xn- 4y = 9(e2x)
65x : = T¢ + 4wn
+x + e
T2 = 4xn
4x 4y

Practice: p.27 #1bc, 2acd, 3q, 4q, 5q, 6a, 7a, 8, 10, 11, 23a
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